2 (700) ARIHIS 2 (710) QoIS
ME : (716) H2IZH| = : (215 s2H) (9l : 7
oMY= oaer | S s2

2 Al 49,836,282 33,994,755 15,841,527
700 AtSHIZ 9,408,139 9,139,505 268,634
710 SLYHI= 9,379,339 8,876,705 502,634
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09 DIEt=c|=4| 7,120 7,120 0
O =&l 6,720
- S2=4l 7,000& x10&E x8AIx12& 6,720
O ot==E2e|& I=h| 200,000& x2¢¥ 400
300 &&0ld 155,805 141,138 14,667
304 H=RE=2 S 112,485 98,118 14,367
01 H=2=RE= 91,665 79,874 11,791
O H=RE=s 643,818,000& x7% 45,068
(OR--FSI=, 643,818,000& x4.484% 28,869
EXEREZ 643,818,000 x2.6343% 16,961
O Mol2E&RE= 643,818,000& %0.119% 767
02 =CUALLERES 20,820 18,244 2,576
O =RAd2ZEE= 643,818,000& x3.035% 19,540
OLEIeLEE= 19,540,000 %6.55% 1,280




(307) @I2+0| ™

==
= -

cltl

=
o)
oll

F

(751)

.

(@] (@] o o o o o o
o o o o o o
™ elefelaele
- S| <
n0 m|lo|lo]|o|®
Ko U RGN RGN BN Y
o o (@] o o o o o
[0 0] o0} <t o o o o o
= @ [ X - @ | @ © [0
—n_n_ O_| N~ N~ t9) [aN] Al Al Al Al
Mz [N — ©|©|©|©| o
Rl S
o o o o (@] o o o (@] o (@] o o (@] o o o o o o o o
oo} [00] 0] (@) o0} o o < <t o <t o o (@} o [ Q Q 1= o o (@]
= IR o § 0 © S| O ¥ © © v ORI H O )H 10 D O
] Nl >~ o ad o —|[P2[lo v — & o - |32 (Q2X8|>0® o ®
< SV VI oV} — NN N
=
oM 80 &0 &0 o o
(aV] Al [aV] [aV] (aV) [aV]
VI VI o
(@] — — o o (@]
8 X xS S g
x o W g o X
R.g 8 © o=
S 2 9 % 8
< m ROu or =
N- Te}
o
. U "

" i o
mmo ur <F _ <0
— oF _ z 9 R
. RO 5z M o
" o W = oo ol
100 4 oo 3k 9

o0 ol ™ ok < LR
. _ o i 8J oK = = - o} il
&l - oo | s ot = o o o QD 0z
~ - | U Mook ml ol < A

nllm\_ = = <k X X = 30 Al A =) = K0
® W Nl ROROXQ g A4 = wlm
;& RS RN
oo Wlg | M WM oW o Ly =& o
R | ®m D Oofgr |#0 80 00 00 A AL &g | Kz || K
S|m A _ _ Blaluer < <X < W oM oM 5 Rz mp|r k
g U m s 3 D5l HUH UG X g2 alale D
Sle + W oI W o= ||+ T R Rla|Mrlxlw o
ol | o g S I I I o Il K 2
s o~ m & o n © o o W HA H|F|K ol &
[l 05 I I I I ~ I I I I I I N I B -y -
S|l — O & |9 oK |85l 0
N~




2 (200) HENKE 3 (230) REXAHS
Mg (231) EX S : (405) TAFSHIS (9l : 7
oMY= oaer | S s2
200 X=2&XIE 40,428,143 24,855,250 15,572,893
230 |EFHE 31,844,943 24,412,050 7,432,893
231 EX 200,000 100,000 100,000
405 KHHFESHIS 200,000 100,000 100,000
01  XhatFSH| 200,000 100,000 100,000
Odt=XelAlE L EEHEAE HAEX B4 100,000
O OtSot==E 48X & 2AS HUEX B4 100,000
234 PE=2 31,643,143 24,310,700 7,332,443
401 Al&HIZL2CHYI 31,643,143 24,310,700 7,332,443
01 Al&d| 30,002,143 22,922,700 7,079,443
O ot==NMNII™2IAIE X 3,293,000
(=) 2,304,900
(%) 494,050
(Al) 494,050
O NEELESXeALE X1 J12 L AAIEH 4 800,000
(=) 300,000
(%) 26,250
(Al 473,750
O = 026t % Xl (L=4.0km) 3,654,143
(=) 2,557,900
(%) 383,685
(Al 712,558
O & 0t26te=% & XI(L=10km) 4,045,571
(=) 2,831,900
(%) 424,785
(Al 788,886
O 83 0t26t=< & Xl (L=0.82km) 2,072,714
(2) 1,450,900
(%) 217,635
(Al 404,179
O ¥4 0t2oka=< &XI(L=1km) 328,571
(2) 230,000
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(=) 1,588,300
(A 285,700
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(=) 2,588,900
(A 1,109,529
O WsXI+ at=21 HHl(L=5.6km) 2,452,714
(2) 1,716,900
(Al 735,814
O &R ok=201 Zdl(L=1km) 2,679,429
(=) 1,875,600
(Al 803,829
O MK = ak=201 HdI(L=1km) 614,286
(=) 430,000
(Al 184,286
O J1&EX 7 Bha=2H &Hl(L=1km) 614,286
(=) 430,000
(Al 184,286
O Lot §UXTA 2Y 240,000
(=) 168,000
(Al 72,000
O MEEDIE =9 5ta=2t01 JHZH(L=0.25km) 200,000
O 240t ot+=% JHZ(L=1.0km) 600,000
O £120t2 8ta== N (L=4.5km) 600,000
O 2202 6t=% N (L=2.3km) 600,000
O otk &4 250,000
O ot== RAEL=(ot=Hel7<) 300,000
O B30t=% CCTVEA Y 30,000
O 20173 ATFAIS A AIEAHHI(QHER, 241 200,000
O ot L OrSot=S e A AIA NI 119,000
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(=) 14,700
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(=) 140,000
(%) 21,000
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(=) 210,000
(%) 31,500
(Al 58,500
O 938 0t25t+=X 4 Xl 100,000
(=) 70,000
(%) 10,500
(Al 19,500
O 94 0t2ot==x &Xl 100,000
(=) 70,000
(%) 10,500
(Al 19,500
O &YX+ ot=2H Jh| 300,000
(=) 210,000
(Al 90,000
O WSKIT ot==2H &l 200,000
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(Al 60,000
O HMICHXI 7 Sh=2H &l 100,000
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(Al 600
237 SI|7HIS 1,800 1,350 450
405 THEFHSHIS 1,800 1,350 450
01  XhatFSH| 1,800 1,350 450
O A& 72 1,800
- 13mm 30,0003 x 304 900
— 40mm 90,000& x 104 900
260 HIDts&HIRAFS 8,040,000 0 8,040,000
261 AASIXtA 8,040,000 0 8,040,000
403 XHXIEHMISAHE01& 8,040,000 0 8,040,000
02 ZJ|2S0l CHst CHEH A YI 8,040,000 0 8,040,000
O ot SE2ALXN S A0 BMS(AHES 2S5 =2 7) 8,040,000
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280 HIRSRiatst 443,200 443,200 0
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601 XIS ae 443,200 443,200 0
04 SLHIIAS 2S4S 443,200 443,200 0
O Lot L el 24X 3 A=4tE 443,200
(=) 443,200
800 oilbIdl 100,000 0 100,000
801 oliblyl 100,000 0 100,000
801 0ilblyl 100,000 0 100,000
O gl 100,000




